
DESIGN OF MACHINERY  3rd Ed. by ROBERT L. NORTON © McGraw-Hill 2004

B

AP = 1.09

L2 = 0.785

P
L3 = 0.356

L4 = 0.950

A

L1 = 0.544

O2 O4

FIGURE P3-10

Problems 3-36 to 3-38

*3-36 Find the Grashof condition, inversion, any limit positions, and the extreme values of the
transmission angle (to graphical accuracy) of the linkage in Figure P3-10.

3-37 Draw the Roberts diagram and find the cognates of the linkage in Figure P3-10.

3-38 Find the three geared fivebar cognates of the linkage in Figure P3-10. * Answers in Appendix F.


